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QUESTION 1

Which reason can cause fail over in a NetScaler Management and Analytics System (NMAS) High Availability pair?
A. A secondary server loses connectivity in the LAN.

B. The engineer manually forces the secondary server to shut down.

C. A primary server encounters a critical software issue.

D. A primary server does NOT receive the SNMP traps from the instances connected.

Correct Answer: C

QUESTION 2

Which two security checks invoke sessionization? (Choose two.)
A. CSRF Form Tagging

B. Field Formats

C. Form Field Consistency

D. HTML Cross-Site Scripting

Correct Answer: AC

QUESTION 3

What can a Citrix Engineer do to decrease browser load times by increasing the number of parallel connections to the
resource?

A. Configure Domain Sharding.

B. Add more web servers.

C. Block JavaScript on client browsers.
D. Do NOT allow HTML websites.

Correct Answer: A

QUESTION 4
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Scenario: A Citrix Engineer configured an HTTP Denial-of-Service (DoS) protection policy by setting the Surge Queue
depth to 300. The surge queue reaches a size of 308, triggering the NetScaler "attack" mode. The HTTP DoS window
mechanism is left at the default size which, when reached, will trigger "noattack” mode.

Which queue depth value must the Surge Queue be to trigger the "no-attack" mode?

A. size should be less than 280.

B. size should be 300.

C. size should be 290.

D. size should be between 280 and 300.

Correct Answer: A

QUESTION 5

A Citrix Engineer needs to deploy the NetScaler Management and Analytics System (NMAS) in their company
environment to ensure that NMAS provides uninterrupted operation in all situations.

Which deployment type can meet this requirement?
A. Active-Active High Availability Mode

B. Single-Server Deployment Mode

C. NMAS integrated with Director mode

D. Active-Passive High Availability Mode

Correct Answer: A
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